H £ 0l & AF & S

Al A

20248 =0ila eI XIS S Ml
S RISZH D
33 NGB Hedst
Chel: M2} bR Bl W REHHE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NP} 16,399,175 4,446,693 11,962,482
= 311,988
[ 6,343,000
Il 983,754
Al 3,573,022
- 5,187,411
INREEE DN =Sk, 460,516 443,044 17,472
ASE0t etd2e| & SEHHHEE 37,516 20,044 17,472
ANSE0F ¥ ae] & ABINES 19,375 18,944 431
101 21A4H| 14,635 14,034 601
04 JIZtN2Z2 XS+ 14,635 14,034 601
OSJI2LIH2Z 14,635
OF2SItEAL 81,6603 3 582 14,209
O=E JI22E3(1E, &)
426,000& 426
201 fer23y| 3,740 3,810 AT0
01 AtR2t2|HI 3,740 3,810 AT0
Odgt==H| 2,200
OSIHE Y MA S M
200,000 200
oxettAga K& 2,000,000& 2,000
O=2g+¢ 1,540
o= AR BH+E
70,0002 %1424 x13] 980
OSEAMMUTES| BHLY
70,0002 x8H *13] 560
202 04l 400 400
01 =LHA LI 400 400
o220l 400,000& 400
203 2=l 600 700 A100
03 A= PR FA| 600 700 A100
O=J1Hd S FAH =d
600,000& 600
ST EE 18,141 1,100 17,041
101 e124d| 9,541 0 9,541
M ORINZZ2NSE S 9.541 0 9.541
OAHEI EII1BA 2223 1,753
Q22 (RerL+gHE)
81,6603 x1& » 19! 1,552
ORUHI(nSHI, SA4bl)
10,0003 115 150
OCAUES I 2RE= 51,0003 51
OHEI JIZ A QF 7,788




S RSB
33 NGB Hedst
Chel: M2} bR Bl W REHHE (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Q228 (RerL+EHEE)
81,660%7&* 12! 6,860
ORUHI(nSHI, S4H)
10,0003 7 & 10 700
OCAUESII2RE= 228,000 228
201 el 8,600 700 7,900
01 At2t2ltl 8,600 700 7,900
OE2s wdAAHI 700,000 %12 700
Odgt+==H| 7,900
OAHZI HIIZAL A& HIH
1,000,000& 1,000
NI FILM 222 HF S
60,000% 15K 900
OFJIBAEHl & +=&X iz
6,000,000& 6,000
280 st 423,000 423,000 0
230 JFE=S N 423,000 423,000 0
201 fer= 3| 3,000 3,000 0
01 At 2|l 3,000 3,000 0
OxgE0 NFAY S5 S 82= MH
3,000,000 3,000
307 elztol & 400,000 400,000
08 OIXtE2& = 400,000 400,000
OA4Zol BHOATS 0l X2 X S (20234
c 8X2) 10,000,000, 000& *2% 200,000
OA43el BHHEIS 0IXEN S (20244
c EXI) 10,000,000, 000& *2% 200,000
308 AXIHMSO0IA 20,000 20,000
13 SI[2S0He & A AS A 20,000 20,000
OA430l ZBHERZ K& AS==2=2(0
AHE 8IH2) 10,000,000,000& +0. 2% 20,000
SEXOI Xl A2t 760,014 469,646 290,368
= 282,490
Al 450,719
- 26,805
HUX =808 & AEXHSS 760,014 469,646 290,368
= 282,490
Al 450,719
T 26,805
XS0 2tel 1,740 1,740 0
201 Ler23| 1,340 1,340
01 At2teltl 1,340 1,340
OUIUXIAY S0t S S22 MR
60,0002 * 14H 840
OS2AH= 2L M= 100,000 52 500




2A:

E M

X=]

PNE=E=DN I,
SEHC HUX A& 22

DOUX =2H0IE & AHEESS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 400 400
01 2LHoIH 400 400
O22|04t| 400,000& 400
JIAHEER 25 5,940 5,616 324
308 AHXIEMSOIE 5,940 5,616 324
18 SIS0t HAS A 5,940 5,616 324
OFHE IAEIII| B2
5,940,000& 5,940
LPGE Il ArEJE7 Ale HEALS 4,500 2,000 2,500
= 2,250
Al 1,125
- 1,125
308 AtXIEMSOIE 4,500 2,000 2,500
= 2,250
Al 1,125
- 1,125
183 S| 2SS A AIE 4,500 2,000 2,500
OLPGEI| AtEIt= AIEIRA
4,500,000 4,500
= 2,250
Al 1,125
- 1,125
ATHMNUK & - SEAEAIE 679,290 388,690 290,600
= 280,240
Al 399,050
402 2I2F X201 & 679,290 364,479 314,811
= 280,240
Al 399,050
02 QI X2 AL EE (01X THE) 679,290 364,479 314,811
OATHA0ILIX B=EXI A
679,290,000 679,290
= 280,240
Al 399,050
S4OE B2 NRA 68,544 71,600 13,056
Al 50,544
- 18,000
402 2I2F X201 & 68,544 71,600 A3,056
Al 50,544
- 18,000
02 QI TH2AILEE (01X THE) 68,544 71,600 A3,0%6
O=ttg HeZ FEEAE
3,808,000« 18AlI CH 68,544
Al 50,544
- 18,000
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A NS E N

3 MdSAME 08 243
el MSAE 28 XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 20,000 20,000 0
OAEIHEHAEIE 20,000,000 20,000
Y S4d OIE 2 82,940 100,000 A17,080
101 @124H| 30,640 0 30,640
04 JIZtNZ2 2N S+ 30,640 0 30,640
OOFAIE JIZHNIZ2E2 X 2= 30,640
oJlzs 61,2503 x24L 123 1 17,640
OAE +2(FH, BXI1E)
7,660,000 7,660
O=RUHI(RS,AHl)
10,0002 x242x 122 2,880
O4i2E JIARY= 2,460,000& 2,460
201 2= 32,300 40,000 AT7,700
01 At22t2lt] 10,000 20,000 10,000
OFESHOAE 23| 10,000,000 10,000
02 S5=2g4l 2,300 0 2,300
OOKIE &l Z23== 2,300,000& 2,300
03 A= SHI 20,000 20,000 0
ONE 14 dA & 44 2otsA
20,000,000 20,000
401 AIEHIZ SR OHYI 20,000 60,000 240,000
01 Al&HI 20,000 60,000 240,000
OOIE Ald RRIE= 20,000,000 20,000
HatSEAE 222 SANE A 83,000 0 88,000
403 AXIEHMSXH=01H 88,000 0 88,000
02 SISt 2 S A AIEEI 88,000 0 88,000
OH2ISSAIE 22BEAY SEAE
HALAHI(2X}) 88,000,000& 88,000
SIEMEAIY LINEESAE SEAY 43,750 0 43,750
403 AXIEHMSA=Z0l1d 43,750 0 43,750
02 S7I2S0 e H=E 2 E AL 43,750 0 43,750
OStdMEAIY LINEHSAE SEAE U
SHALHHI(2X}) 43,750,000 43,750
HSAE Ald X 11,161,780 590,680 10,571,100
s 6,343,000
Al 2,129,500
- 2,689,280
SHEdstadH ANES 2l 344,500 307,400 37,100
201 =3 164,500 127,400 37,100
01 At22t2lH] 100,000 70,000 30,000
OS=aad FAUd ==
80,000,000 80,000
OOHAIOIE ABAIE =S QMBS 2
15,000,000 15,000




A NS E N

Hu: MSAF 018 243t

Chel: dSAIE Al EI% (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OAIRX BE= 5,000,000& 5,000
02 S3=gl 64,500 57,400 7,100
OsE2= & HA 26,400
oss=ad S5R2=
1,050,000& « 122 12,600
OHEAF AE(2HB, XY S) B2B23
1,050,000& « 122 12,600
OANAE S3a= 1,200,000 1,200
OAEEHIR X 22,000
OBLUYHT BRI
20,000,000 20,000
OAAE ANEZE R+
2,000,000 2,000
ooplolE & A2 BHEHI(ES2 e
S 202) 14,000,000 14,000
O0o0IE NERLRE=
2,100,000& 2,100
401 Al HIZL 01| 180,000 180,000
01 A=l 180,000 180,000
O0BNoIE AIEE |XIE=
180,000, 000& 180,000
HSAME Ald=S £X1 & 22 215,280 115,280 100,000
201 L= 5,280 5,280 0
01 AF22t2ltl 5,280 5,280 0
OSLHSAIE DX H SX=
440,000& + 122 5,280
401 Al HIZL S 0HYI 210,000 110,000 100,000
01 Al&H| 210,000 110,000 100,000
OBSAE AIEE FXE=
80,000,000& 80,000
OFSAIZ Na2 T8 ME2EY
10,000,000 10,000
O3ks 8= F22E 4X
100,000, 0002 100,000
ORTH THE VXY 2
20,000,000 20,000
HSAE HSH K& 30,000 0 30,000
Al 15,000
T 15,000
301 2N = 30,000 0 30,000
Al 15,000
- 15,000
14 J|EtE2 8 S 30,000 0 30,000
O&ESAIE StHSH K&
30,000,000 30,000
Al 15,000




2A:

IR DN )y

3 MdSAME 08 €43
ol EEAE AE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 15,000
BHStSEAIE SEF=IUE F=IUE 2E 10,572,000 0 10,572,000
[ 6,343,000
Al 2,114,500
- 2,114,500
401 AIEHIX R0 10,572,000 0 10,572,000
[ 6,343,000
Al 2,114,500
- 2,114,500
01 Al&H| 10,413,000 0 10,413,000
OH=tSSAE S FIEH HE
10,413,000,000& 10,413,000
[ 6,247,800
Al 2,082,600
- 2,082,600
02 Zeltl 128,000 0 128,000
OHSIESAIE SE=IE FXEF HE(
Zel) 128,000,000 128,000
[ 76,800
Al 25,600
- 25,600
03 AIESTHYI 31,000 0 31,000
OHSIESAE SE=IE FXEHY 2HE8(
AE204I) 31,000,000& 31,000
[ 18,400
Al 6,300
- 6,300
sTatgelEeRs & XAt 3,449,446 2,583,574 865,872
= 29,498
Il 983,754
Al 992,803
- 1,443,391
ST dg oy 1,500,329 619,154 881,175
Jl 773,000
Al 388,123
T 339,206
sHFEXE 70,840 94,340 /23,500
201 Ler23| 16,650 10,050 6,600
01 At2teltl 15,750 9,180 6,600
O=234dy 15,750
OFF &A= B M=
100,000& +5& 500
OX=Xl =& A =8 S
160,000& *62] 960




A NS S
M mEARI0ITRE W XA
Hel: S ME oHF (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OstugAl doARIEs|e HAH
70,0002 713 490
OXN==Xl &c| =258 s 7
3,000,000 3,000
OsXfIdse g4 =4
70,0002 x10 * 122 8,400
Ol g8t =5 S
200,000 %122 2,400
02 S3=gHl 900 900 0
OAIE2 &= X 900
Otolf % IHoHCHZ == ZH| FHI
300,000 304 A 900
202 04l 640 640
01 SLHoIH 640 640
OZ2| 04l 640,000 640
203 gR=| 550 650 A100
03 A= PR F&IH| 550 650 A100
Os=4t 2t Al M =8 560,000 550
301 Eet2 NS 3,000 3,000
11 #AIAHIXIE S 3,000 3,000
OsENEXtz s Ast
3,000,000& 3,000
401 Al HIZL 01| 50,000 80,000 230,000
01 Al&H| 50,000 80,000 30,000
OsIBANL(L+E, Nl S) R+
50,000,000& 50,000
SYAAXIZ 4,000 4,000
307 @120l & 4,000 4,000
02 QItEHAEE X 4,000 4,000
Osgelod dAIEX 4,000,000 4,000
st & sgel SXXE 35,106 35,106 0
Al 16,750
- 18,35
201 er2 3| 1,606 1,606
01 At2teltl 1,606 1,606
O=d="Sd2N &3
6,0803 22 x123] 1,606
307 gl2to| & 33,500 33,500 0
Al 16,750
- 16,750
06 28= 33,500 33,500 0
Osgel Holletd SHE A
32,000,000 32,000
Al 16,000




2A:

Hu: =EMQOIZRRE U KA
Hel: S ME oHF (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 16,000
OsJIH sg88 NE 1,500,000& 1,500
Al 750
- 750
S&2 THoHOH = 126,000 60,000 66,000
Al 63,000
- 63,000
307 212+01™ 126,000 60,000 66,000
Al 63,000
- 63,000
06 232 126,000 60,000 66,000
O=s&= MolBE= 126,000,000 126,000
Al 63,000
- 63,000
SAlsgEY 45,100 45,100 0
Al 14,560
- 30,540
101 eI t| 6,400 6,400 0
Al 2,560
- 3,840
M I1RINZ2Z2sSEs 6,400 6,400 0
OF0te EA=sYual o] 4,400
(ORIl 81,6003 x1H 51 4,165
Al 1,666
- 2,499
QA2 Z 235,000& 235
Al A
- 141
OSgze| 212y 2,000
(ORIl 81,6003 x2ZF 11! 1,797
Al 719
- 1,078
QA2 = 203,000& 203
Al 81
- 122
201 L2 | 20,300 20,300 0
Al 4,000
- 16,300
01 At 22|l 20,000 20,000 0
OO0t TAI=Y WA(NS 2l S)
2,000,000& 2,000
Al 800
- 1,200




A NS S
M mEARI0ITRE W XA
ol SE dg o (Ete &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSASE HOAE & U HE| YR
8,000,000& 8,000
Al 3,200
- 4,800
OEASE 22X =24 S 10,000,000& 10,000
2 S22l 300 300 0
OEASE 28 &)= 300,000 300
206 MH=HI 4,000 4,000 0
Al 1,600
- 2,400
01 T2t 4,000 4,000 0
OZASHLE SXH 7Y (SX, Sl S)
4,000,000 4,000
Al 1,600
- 2,400
401 AIEHIZ SR 0HYI 8,000 8,000 0
Al 3,200
- 4,800
01 Al&H| 8,000 8,000 0
Okds I =5t &4 8,000,000& 8,000
Al 3,200
- 4,800
402 2IZtA=01d 6,400 6,400 0
Al 3,200
- 3,200
02 RIENEASEZ(0IETHR) 6,400 6.400 0
ORI 2= 40, 000 *2007H +80% 6,400
Al 3,200
- 3,200
ASa AHI=A 16,328 16,328 0
Al 6,181
- 10,147
307 elztol & 12,828 12,828 0
Al 5,131
- 7,697
02 QI AAEE X 12,828 12,828 0
OoH =0 28l XI&A
15, 5203 *x300& *50% 2,328
Al 931
- 1,397
OLNSE b dxe=g N
1,500& 7,000 10,500
Al 4,200
- 6,300




£A: NS3H D
M mEARIITRRE 9 MRS
Chel: =& M3 otF (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
402 QI2ERH=0I1 N 3,500 3,500 0
Al 1,050
- 2,450
02 QIZEXHE AL B X (01 &THEA) 3,500 3,500 0
OS4Kg & T XA
350220, 0000H*50% 3,500
Al 1,050
- 2,450
Jl2d 39 XM=3 765,000 56,525 708,475
| 765,000
301 LEHBEF 765,000 56,525 708,475
| 765,000
14 JIEt2 43 765,000 56,525 708,475
OJI28 34 des 765,000,000& 765,000
| 765,000
SUE HSALY SHEZH 8,000 9,000 A1,000
| 8,000
101 @I H| 6,200 7,000 A800
| 6,200
M IIZtH22SEx 6,200 7,000 A800
OFaresd B3 o1AHY| 6,200,000& 6,200
| 6,200
201 Let23| 1,800 2,000 A200
| 1,800
01 At 22|l 1,800 2,000 2200
ONZH UARIRE 29
360,000 *500 = 1,800
| 1,800
s0e =& X& 283,000 150,000 138,000
Al 230,400
- 57,600
301 LBBNZ 283,000 150,000 138,000
Al 230,400
- 57,600
14 JIEt2 43 288,000 150,000 138,000
O=8l =g K& 50,0003 =123 »480H 288,000
Al 230,400
- 57,600
NEsstE |4 65,000 64,000 1,000
Al 26,000
- 39,000
402 CI2ER=0IH 65,000 64,000 1,000
Al 26,000




2A:

M mEARI0ITRE W XA
ol SE dg o (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 39,000
02 QI XHE AL E R (01X THE) 65,000 64,000 1,000
Ot &0l 54 X3 65,000
O&4Y g 35 YHM A&
1,428,570 x7hax50% 5,000
Al 2,000
T 3,000
O3S £otE =M A&
1,290 %93, 0230H*50f% 60,000
Al 24,000
- 36,000
st dAAIE U EALY 59,280 59,280 0
Al 23,712
- 35,568
402 QI>F X201 & 59,280 59,280 0
Al 23,712
T 35,568
02 QI X2 AL EE(0IETHE) 59,280 59,280 0
OZUFEAS 4,940,000& *12ha 59,280
Al 23,712
- 35,568
sttE £ 243t 5,175 16,175 211,000
Al 2,070
- 3,105
402 2I2FX=201H 5,175 5,175 0
Al 2,070
- 3,105
02 QI X2 AL EE (01X THE) 5,175 5,175 0
O=Z tisX 3= 323 %323, 43701 *50% 5,175
Al 2,070
- 3,105
SIRL 243t K2 12,500 9,300 3,200
Al 5,450
- 7,050
307 @I2t01 & 4,500 3,300 1,200
Al 2,250
- 2,250
02 B AAHE L 4,500 3,300 1,200
OZZRC oHEd ZA K&
4,500,000 4,500
Al 2,250
- 2,250
402 2IZtA=01d 8,000 6,000 2,000




2A:

Hu: =EMQOIZRRE U KA
&l =& ME oHF (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 3,200
- 4,800
02 DIZHAFE A2 X (01 R TH ) 8,000 6,000 2,000
ORLTC 48 TR N
8,000,000& 8,000
Al 3,200
- 4,800
Hetd =9 |54 1,248,354 1,330,425 A82,071
= 1,500
| 3,750
Al 453,303
- 789,801
Edsgsy 18,500 17,000 1,500
Al 7,500
- 11,000
101 2124 d| 16,000 16,000 0
Al 6,400
- 9,600
M IIZINZ2 2 NS ES 16,000 16,000 0
OHIG s =1 X 16,000
©elAd| 81,6603 *12Z8 » 16 15,679
Al 6,272
- 9,407
OKM - N& B8 J|&ARHEZ S
321,000& 321
Al 128
- 193
307 2I2+01™ 1,500 500 1,000
Al 600
- 900
02 QIZHBAAIEER 1,500 500 1,000
OB IE =42 FHED
1,500,000& 1,500
Al 600
- 900
402 QI X201 ™ 1,000 500 500
Al 500
- 500
02 QIZEXH2 A 22 (01 TH &) 1,000 500 500
Ozlsd sAHM K& 1,000,000& 1,000
Al 500
- 500
GAPRIES =T ot HA| XI& 3,000 2,000 1,000
= 1,500




£A: NS3H D
M mEARI0ITRE W XA
el e =8 =4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 750
- 750
307 212+01 A 3,000 2,000 1,000
= 1,500
Al 750
- 750
02 QIZHBAAIEER 3,000 2,000 1,000
OGAP 2IE=Dt oA HAEl XI&
200,000& 1524 3,000
= 1,500
Al 750
- 750
St A K 1,144,500 1,144,766 AN266
Al 425,000
- 719,500
201 2| 5,500 5,500
01 Ar22eltl 5,500 5,500
OstusaAl 22| dH Xtz
5,500,000& 5,500
308 AXISHMSOIA 1,139,000 1,139,266 AN266
Al 425,000
- 714,000
08 WFI| 2SS = 1,139,000 1,139,266 AN266
Ogtngal AlZH| X2
1,139,000,000& 1,139,000
Al 425,000
- 714,000
SKIOISAE A XA 5,358 2,863 2,495
J| 3,750
Al 804
- 804
101 eI H| 5,358 2,863 2,49%
| 3,750
Al 804
- 804
M IIRINZ2Z2XsSEs 5,358 2,863 2,49%
OsX0ISEe|ZA BXE o122
5,358,000& 5,358
| 3,750
Al 804
- 804
FIIEHIE K3 (HEAIY) 76,9% 76,996 0
Al 19,249
- 57,747




A NS S
M mEARI0ITRE W XA
el e =8 =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 76,996 76,99 0
Al 19,249
- 57,747
02 2IZHBYAIHE X 76,996 76,996 0
ORJIE HIZ XIg (Mg
2,000& 38,498 76,996
Al 19,249
- 57,747
s= 23 A& 317,789 253,851 63,938
= 27,608
Al 65,493
- 224,688
=== EAN| 88,875 73,500 15,375
Al 33,150
- 55,725
201 2= 82,875 67,500 15,375
Al 33,180
= 49,725
01 Al 22IH| 82,875 67,500 15,375
SIlse 2aH ¥ Ze)
82,875,000& 82,875
Al 33,150
- 49,725
307 @120l & 6,000 6,000
05 glt?(& = 6,000 6,000
OS=S5 U22E WA
10,0002 *6005 6,000
RIIRAsE X 254 X 3,500 3,500 0
= 1,050
Al 700
- 1,750
307 212+01& 3,500 3,500 0
= 1,050
Al 700
- 1,750
02 QB HANEEX 3,500 3,500 0
ORJI=es=E X EsH XN&E
70,0003 505 3,500
= 1,050
Al 700
- 1,750
#lsE2 XES 7,400 7,400 0
201 et 3| 7,400 7,400
01 At22t2l] 7,400 7,400
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A NS S
Hu: =EMQOIZRRE U KA
el S= 2 AE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 14,400 0 14,400
OZ120l 4=t L&Y
14,400,000 14,400
glsE 2ot 2218 2¢ 6,500 0 6,500
201 Zet=3h] 6,500 0 6,500
01 AtR2t2|HI 6,500 0 6,500
OS2 28 2
230,000& * 122 2,760
Olizz & g2=3 Y 3,740
o= 100,000& x 123 1,200
O8=2E =% 1,800,000& 1,800
Ou=s=24H| 740,000& 740
duss2s2 29 1,000 0 1,000
301 22N = 1,000 0 1,000
14 JIEt2 = 1,000 0 1,000
Odlls=sEsa 2% 50,000& *202] 1,000
tleise 25 & =X A& 67,074 58,304 8,770
101 @124H| 40,024 42,704 22,680
MU OIRINZZENSES 40,024 42,704 2,680
Os==NAE JIZHH 224 24| 40,024
oJlzs 10,2073 40N 2452 21,231
OH+=g(ss72) 81,660 »108& 8,820
OM=g(5d=¢)
81,6603 »150%* 13 1,593
20| 10,0003 »320! 3,200
OJtE=E 140,0002 122 1,680
OC4lES JI2RE=2 S 3,500,000& 3,500
201 Ler23 | 4,900 7,600 A2,700
01 At2t2ltl 2,900 5,600 A2,700
OARE23HI 2,900
Ottis= 883 uUs 23
230,000& %10 2,300
O +9, AEE S 7Y
600,000 600
2 S5=2g4l 2,000 2,000 0
Otlelss d83d 0V Stz S
2,000,000& 2,000
308 AXIHSOIA 3,000 0 3,000
07 HXHH2LRES 3,000 0 3,000
ORJISE ESdH AIEHE At
3,000,000 3,000
401 AIEHIZ SR THYI 19,150 8,000 11,150
01 Al&HI 19,180 8,000 11,180




A NS S
Hu: =EMQOIZRRE U KA
=t =2 23 AE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OuiS2 @838 &)
19,150,000& 19,150
EHEE E=2S 7,825 7,825
101 @1A4H| 3,925 3,925
04 JIZtNZ22 XS 2+ 3,925 3,925
OJt=s HgEs =29 825
OTFHS 85 S+2 22y
8,000 *1005 800
OLEs - & I REE S
25,0002 25
OZdg HYEs 24 3,100
OZAE HYES +=2lAL 12|
5,000 *6005 3,000
OLE8 - & I REE S
100,000 100
201 Let=Ehl 1,300 1,300
01 AtR2t2|HI 1,300 1,300
Odgt==H| 200
oxdgY Jis 4XZ HIS(EXE WA S)
200,000& %12 200
O&&d JIE 4X2 =247 &X=
1,100,000& 1,100
202 04t 400 400
01 =LHOHI 400 400
O&=20tl 400,000 400
206 M=l 2,200 2,200
01 M=8l 2,200 2,200
Os2 &%t 7Y (2LHE], &2 )
2,000,000& 2,000
OJIE HYES AL FAD| 2L
50,0003 *4H 200
JIEEE RYXE 2 o 22,589 21,589 1,000
Al 4,635
- 17,954
201 ger=3| 10,000 10,000
01 At 2|l 10,000 10,000
OJIsdgy Xttt ay|
500, 000& »202] 10,000
206 MH=HI 5,389 4,389 1,000
Al 1,755
- 3,634
01 MZH| 5,389 4,389 1,000
FRIE 888 45 o4F N
25,0002 *40H 1,000
Al 400




A NS S
Hu: =EMQOIZRRE U KA
=t =2 23 AE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 600
Ooduret g =45 XA 14,5453 «200H 2,909
Al 1,163
= 1,746
OBOITI&A oot 72
16,0002 *30H 480
Al 192
2 268
OZRQB20IN} ASOUE
10,9803 911 1,000
301 2eEN= 7,200 7,200 0
Al 2,880
T 4,320
14 JIEt2d=3 7,200 7,200 0
OZ+9l &0 ESY)
100,000 x62* 122 7,200
Al 2,880
- 4,320
MY ogetE F2 NE 680 721 A4
= 476
Al 102
- 102
206 MH=H| 680 721 A4
= 476
Al 102
- 102
01 MZH| 680 721 Yavyl
OTHS HEE o5 7ol
42,5002 = 167K 680
= 476
Al 102
T 102
THS HAEE AEY A 23K 34 0 4
= 17
Al
- 9
206 M=l 34 0 34
= 17
Al
- 9
01 MHZH| 34 0 34
OFMY HLES AEYA 23HH
3303 *103F 34
= 17




2A: NSEZ A
M mEARI0ITRE W XA
=t =2 23 AE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 8
- 9
TFHE oAl HE AlsHI(E4) 2,000 0 2,000
= 1,000
Al 500
- 500
301 LBBNSZ 2,000 0 2,000
= 1,000
Al 500
- 500
14 J|Et2 43 2,000 0 2,000
OFHSE HEEE Al
10,000& 2005 2,000
= 1,000
Al 500
- 500
aYEEAZ 10,530 10,530 0
= 8,424
Al 1,053
- 1,053
301 LEBNEF 10,530 10,530 0
= 8,424
Al 1,053
- 1,053
14 J|EtE A2 10,530 10,530 0
OJIs&gY AXdz24 10,530,000& 10,530
= 8,424
Al 1,053
= 1,053
IR AHE U 2OiE 2,000 2,000 0
243
301 LB F 2,000 2,000
14 J|Et2 &2 2,000 2,000
OUgE AXE U 2HEE 243
2,000,000& 2,000
SUNHEEN SHSXJAA 1,782 1,782 0
= 891
Al 445
- 446
201 Ler23| 1,782 1,782 0
= 891
Al 445
- 446
02 S=29| 1,782 1,782 0




£A: NS3H D
M mEARI0ITRE W XA
=t =2 23 AE (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
S I IERE]
148,500« 122 1,782
= 891
Al 445
- 446
ot Xt (PSHITD| Al RSB SHA 2= 600 1,200 600
= 300
Al 150
- 150
301 LetENEZ 600 1,200 AB00
= 300
Al 150
- 150
14 JIEt2 &S 600 1,200 AB00
OFARIZ S S| Al HRZS X2
60,0002 » 10CH 600
= 300
Al 150
- 150
sS4 FHE otd 382,974 380, 144 2,830
= 390
| 207,004
Al 85,884
- 89,6%6
S4ME =08l £ M=d| XA 780 780 0
= 390
Al 273
- 117
206 M= 4l 780 780 0
= 390
Al 273
- 117
01 =Yl 780 780 0
OF4&tE =HIA Al=H| 780,000 780
= 390
Al 273
- 117
=2 X2 4,000 4,000 0
Al 1,300
- 2,700
307 QI2HOl A 4,000 4,000 0
Al 1,300
- 2,700
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£A: NS3H D
M mEARIOITRE W XA
el 4 Fg oy EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
402 QI2ERH=0I1 N 410 410 0
Al 169
- 241
02 QIZEXH2 AL 2 (01 TH &) 410 410 0
OSO0FA 2aH OHETI AFY
10,0003 55 50
Al 25
- 25
O34tet &It EHoIAr 360,000 360
Al 144
- 216
FMSIH ERE HEAME XA 5,000 0 5,000
Al 2,500
- 2,500
307 gI2tol 5,000 0 5,000
Al 2,500
- 2,500
02 QIZHA A AL E X 5,000 0 5,000
Os¢tsIt 872 tigaz X&
10,000 *5H *500 L *20% 5,000
Al 2,500
- 2,500
SH(RA2RF =4 X 301,310 298,800 2,510
| 180,790
Al 60,260
- 60,260
307 212+01 A 301,310 298,800 2,510
| 180,790
Al 60,260
- 60,260
02 QIZHBAAIEER 301,310 298,800 2,510
Ostues 234 301,310,000& 301,310
| 180,790
Al 60,260
- 60,260
SIMSOHNE XA 58,732 67,564 A\8,832
| 26,118
Al 16,307
- 16,307
307 gI2tol ™ 58,732 67,564 A\8,832
| 26,118
Al 16,307
- 16,307




A NS S
M mEARIOITRE W XA
el =oh Zg o (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 58,732 67,564 N\8,832
Ostd=0 ME X2 58,732,000 58,732
Jl 26,118
Al 16,307
- 16,307
s | 5,320 5,320 0
Al 2,280
- 3,040
402 2I2F X201 & 5,320 5,320 0
Al 2,280
- 3,040
02 QI XHE AL E R (01X THE) 5,320 5,320 0
Oogsuyd FEAMY 5,320,000& 5,320
Al 2,280
- 3,040
LEHEXIEH X 192 240 A48
Jl %
Al 48
- 48
402 2I2FXH=201H 192 240 A48
Jl %
Al 48
- 48
02 QI XHE AL E R (01X THE) 192 240 YaV:3]
OZEEXIEHl XI& 40,0002 «8CH*60% 192
Il %
Al 48
- 48
2SS Y Llofog At 4,200 0 4,200
Al 1,750
- 2,450
307 @I2t01 & 4,200 0 4,200
Al 1,780
- 2,450
02 2B HAHE L 4,200 0 4,200
OZSZZ TaHMIZ A
7,000,000 *60% 4,200
Al 1,750
- 2,450
Y =S 3 136,109 118,129 17,980
ol 2 (XIHZ M) 84,209 67,273 16,936
elIg =3 84,209 67,273 16,936
101 @124H| 84,209 67,273 16,936




SA KNS
mE: AFSAAY)
CHel: QI 2AH|(XISZ D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 84,209 67,273 16,936
Ozxuz2e=g 84,209
oAt DS
12,5313 +3BAI 2Hx16H* 123 84,209
[2ZHI(XISZ M) 51,900 50,856 1,044
JI23Hl 51,900 50,856 1,044
201 2= 20,100 16,416 3,684
01 At22t2l] 20,100 16,416 3,684
OJIZ2 A2/l 21,0002 x17E~ 128 4,284
O=gl 13,056
OSZAE SAHI
8,000 x 172 +8A!x 12 13,056
Oogxz 2,760
OSAPDI SX= 230,000 = 1CH* 122 2,760
202 04l 28,560 31,200 22,640
01 2LHoIH 28,560 31,200 N\2,640
Oz Lol (M &)
20,0003« 17 +72Lx 122 28,560
203 HR=4AH] 3,240 3,240
MU A2 LRSI 3,240 3,240
OJI1E2(2021015t) 300,000 * 122 *90% 3,240




